Skara BS
Partavling HCP 2020-01-16

Partavling, 11 bord, 21 par. Antal brickor: 24. Medel: 215.8. Frirond (*) ger egen procent.

Plac Par Poéng % Namn MID Klubb

1 16 266.9 61.77  Lena Johansson - Marita Johansson 59581 40751 SkaraBS

2 12 255.4 59.11  Rolf Billstrém - Ake Bergman 28730 1861 Mariestads BS - Hjo BS

3 17 249.0 57.63  UIf Palm - Anita Palm 33043 33044 SkaraBS

4 8 241.6 55.93  Ake Tiveljung - Lars Ehn 33048 33052 SkaraBS

5 3 234.5 54.28  Leif Hogberg - Berit Hogberg 22679 22680 SkaraBS

6 9 228.1 52.81  Marit Suhonen - Mats Hallenberg 33046 33054 SkaraBS

7 2 225.8 52.28  Bodil Héglund - Yngve Hoglund 62098 62099 Skara BS

8 19 222.8 51.58 Marianne Svensson - Thomas Rigland 38490 57807 SkaraBS

9 18 221.4 51.25  Anna-Lisa Nilsson - Annalisa Bergstrom 33065 55827 SkaraBS

10 13 221.0 51.16  Anna Bonander - Siv Johansson 59592 36273 SkaraBS

11 20 218.5 50.57  Josef Polzer - Elisabeth Jannesson 33045 33057 SkaraBS

12 5 2159 49.97  Gunnar Johansson - Kjell Berggren 33060 25786 SkaraBS

13 6 212.8 49.26  Per-Olof Johansson - Anita Kjallstrém 59383 60273 SkaraBS

14 14 211.3 48.91  Leif Nilsson - Eva Nilsson 63674 63673 SkaraBS

15 11 204.2 47.27  Goran Jonsson - Uno Ljungstrom 30051 36358 SkaraBS

16 4 202.3 46.84  Sture Ragnar - Clas-Hakan Winroth 23327 26447 SkaraBS

17 7 197.2 45.64  Per Hermansson - Connie Friberg 27101 47153 SkaraBS

18 15 181.3 41.96  Marita Perlstrdm - Majlis Gustavsson 33434 33053 SkaraBS

19 21 178.7 41.36  Jan Granat - Ingvar Bergsten 63872 33050 SkaraBS

20 22 173.5 40.16  Laila Olsson - Bjorn Almedal 36274 78480 SkaraBS

21 10 169.4 39.21  Stig Carlsson - Claes Janke 33051 56515 SkaraBS
1 Nord Ingen 2 Ost NS 3 Syd OV

Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res
11 6 44 S+3 ¢5 510 180 0.0 8 15 24 N+1 ¥vA 140 180 0.0| 8 14 4y S+2 A 480 17.0 1.0
7 13 44 S+2 ¢ 480 140 40| 7 13 2NV-2 &3 100 16.0 2.0| 9 16 4y S+2 &A 480 170 1.0
10 19 44 S+2 #Q 480 140 40(14 2 4v0-1 +A 50 140 40|12 7 49y S+1  +9 450 140 4.0
20 5 44 S+2 #Q 480 140 40| 3 16 44 N-1 YA -100 120 6.0 4 17 3NS+1 49 430 120 6.0
4 18 44 S+1  #Q 450 8.0 100 4 18 INV+1l a7 -120 10.0 8.0(22 6 34DV-1 +A 200 10. 8.0
14 2 44 S+1  v7 450 8.0 10.0(10 19 3v O= 4Q -140 8.0 10.0(21 20 3v S= *Q 140 10.0
22 21 44 S+1  #Q 450 8.0 10022 21 44S-2 v6 -200 6.0 120 2 13 34 V-1 *T 100 14.0
3 16 44 S= ¢5 420 40 14.0| 9 17 4v O= 4Q -420 40 140| 5 19 3a V-1 +A 100 14.0
8 15 3y N+4 46 260 20 16.0(11 6 44DS-3 2 -800 10 170|15 3 34 V-1 A 100 14.0
9 17 2v N+3 &A 200 0.0 180(20 5 44DN-3 vA -800 1.0 17.0|10 18 4y S-2 a4A -100 18.0

- 12 11.4| - 12 114 - 11 8.8
4 Vvast Alla 5 Nord NS 6 Ost OV

Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res ing

5 19 44 V-3 3 300 150 3.0| 3 14 3¢ N+1 #A 130 16.0 20|16 4 2y S+2 +Q 170 18.0 0.0
8 14 44 V-3 4T 300 150 3.0( 5 18 3¢ N+1 &A 130 16.0 2.0 5 18 2NS+1 43 150 140 4.0
12 7 3NV-3 T 300 150 3.0(11 7 2¢ N+2 &K 130 160 2.0(11 7 2NS+1 +¥5 150 140 4.0
21 20 44 V-3 4] 300 150 3.0 9 15 2¢ N+1 vA 110 110 7.0|/20 19 INN+2 &5 150 140 4.0
9 16 44 V-2 4T 200 9.0 9.0(20 19 3¢ N= vA 110 110 7.0| 2 12 3¢ S+1 44 130 7.0 110
15 3 34 V-2 T 200 9.0 9.0(10 17 2¢ N= &A 90 7.0 110 3 14 2¢ S+2 v2 130 7.0 11.0
2 13 16 V+2 o7 -110 6.0 120(21 6 2¢ N= a7 90 7.0 110 9 15 2¢ S+2 #A 130 7.0 110
10 18 INV+2 ¢2 -150 40 14.0(13 8 2¢ N-1 &4 -100 40 14021 6 3¢ N+1 8 130 7.0 110
4 17 3NV= aT -600 1.0 17.0| 2 12 3NN-2 vJ -200 1.0 17.0(10 17 3NS-1 43 -50 1.0 17.0
22 6 3NV= +Q -600 10 170|16 4 3¢ N-2 3 -200 10 17.0|13 8 3NS-1 &2 -50 1.0 17.0

-1 88| - 22 6.0 - 22 6.0
7 Syd Alla 8 Vast Ingen 9 Nord OV

Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
19 18 4v O-2 +5 200 180 0.0| 3 13 3NV-1 8 50 180 0.0| 7 21 24DV-4 vK 1100 18,0 0.0
4 15 2v 0= aT -110 150 3.0 2 11 INV+1 5 -120 160 20| 3 12 14V-3 v¥K 300 140 4.0
12 8 2v0O= *7 -110 150 3.0(10 16 3¢ O+1 9 -130 140 4.0(15 10 INO-3 v4 300 140 4.0
2 11 29 O+1 46 -140 8.0 10012 8 2NV +1 43 -150 10.0 8.0(18 17 24 V-3 ¥K 300 140 4.0
3 13 2vO+1 oT -140 8.0 10.0(14 9 INV+2 w4 -150 100 80|11 8 1laV-2 K 200 9.0 90
6 20 2v O+1 ¢5 -140 8.0 10.0(19 18 INV+2 v4 -150 100 80|13 9 24V-2 v¥K 200 9.0 90
14 9 2v O+1 o7 -140 8.0 100 4 15 INO+3 v4 -180 6.0 120 4 14 2y S+2 #A 170 6.0 12.0
17 5 2v O+1 +A -140 8.0 100 6 20 3NV= v5 -400 3.0 150 2 22 INN+1 49 120 4.0 14.0
10 16 4v O = +5 -620 10 170|122 7 3NV= vT -400 3.0 150 6 19 INV-1 vK 100 2.0 16.0
22 7 49 0O= ¢A -620 10 17017 5 3NV+2 #2 -460 0.0 180(| 5 16 14 N= 2 80 0.0 18.0

- 21 75| - 21 75| - 20 9.3
10 Ost Alla 11 Syd Ingen 12 vVast NS

Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang

6 19 44 O-3 ¢7 300 180 0.0(12 9 2v V-2 +6 100 180 00|12 9 5¢ O-1 45 50 17.0 1.0
2 22 34 0-2 o7 200 130 50| 5 15 3v V-1 &K 50 140 40(18 6 66 O-1 YA 50 170 1.0
7 21 340-2 o7 200 13.0 50| 8 22 2v V-1 T 50 140 40| 2 21 2¢ O+3 +¥3 -150 140 4.0
11 8 34 0-2 ¢3 200 13.0 5.0(14 10 2v V-1 T 50 140 40| 5 15 54DN-1 ¢K -200 110 7.0
18 17 34 O-2 7 200 13.0 50| 3 11 1v V+1 T -110 8.0 100 8 22 54 N-2 +Q -200 11.0 7.0
3 12 24 0-1 7 100 50 130 7 20 1v V+1 T -110 8.0 100 7 20 5¢ O= +8 -400 6.0 12.0
4 14 264 O-1 o7 100 5.0 13.0(17 16 2v O= ¢ A -110 8.0 10.0(14 10 5¢ O= a5 -400 6.0 12.0
5 16 44 O-1 7 100 50 130 2 21 2vV+2 &K -170 3.0 15017 16 5¢ O= vA -400 6.0 12.0
15 10 24 O-1 7 100 50 13.0(18 6 2v O+2 +A -170 3.0 150( 3 11 5¢ O+1 ¥vA -420 2.0 16.0
13 9 24 O+1 7 -140 0.0 180 4 13 INV+3 «K -180 0.0 180 4 13 3NV+1l 4 -430 0.0 18.0

- 20 93| - 19 81| - 19 8.1
13 Nord Alla 14 Ost Ingen 15 Syd NS

Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
16 15 4¢ V-1 4A 100 180 0.0 3 22 44 V-1 &8 50 180 0.0| 3 21 INO+2 #J -150 18.0 0.0
8 21 24 N-1 &A -100 140 40| 2 20 24 V+1 &5 -140 16.0 20| 4 11 24 V+2 94 -170  13.0 5.0
9 11 24 N-1 vA -100 140 4.0(13 10 INO+2 3 -150 13.0 5.0(10 12 24 V+2 45 -170 130 5.0
13 10 24 N-1  ¥K -100 140 40|19 7 INO+2 2 -150 13.0 50|19 2 34 V+1l +A -170 130 5.0
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6 17 2v O = aT -110 00 80| 4 12 24 V+2 5 -170 7.0 20 8 34 V41 ¢J -170 5.0
4 12 40 O= aT -130 8.0 100 8 21 24 V+2 v -170 7.0 5 13 4v O= + K -420 14.0
19 7 3v 0= 43 -140 6.0 120 9 11 24 V+2 42 -170 7.0 6 16 44 V= *A -420 14.0
2 20 3vO+1 43 -170 40 140|16 15 24 V+2 v5 -170 7.0 7 18 44 V= v5 -420 14.0
5 14 44 N-3 vK -300 20 16.0| 5 14 44 V= v] -420 1.0 9 22 44 V= &4 -420 14.0
3 22 3yDO= 46 -730 00 180| 6 17 44 V= v8 -420 1.0 15 14 44 V= *A -420 14.0
18 - 8.8 18 - 8.8 17 -
16 Vast OV 17 Nord Ingen 18 Ost NS
Par Kontr Ut Res ing Par Kontr Ut Res ing Par Kontr Ut Res
9 22 6eDV-4 v3 1100 00| 4 22 29 0-3 43 150 00| 5 12 49y S+1 +6 650 0.0
4 11 5¢DV-3 ¢3 800 20|10 11 24 N+1 &A 140 20| 4 22 4v S= »2 620 4.0
3 21 54DS= v7 550 40| 5 12 24 N= vA 110 6.0| 8 19 4v S= *2 620 4.0
20 8 5v S= s A 450 6.0 8 19 24 N= *A 110 6.0[10 11 4v S= *7 620 4.0
5 13 5¢ V-2 vQ 200 8.0|14 13 24 N= A 110 6.0 6 15 3NS= ¢+4 600 9.0
7 18 44 S+1  +A 150 10018 2 2vO-1 #Q 50 11.0(18 2 3NS= v4 600 9.0
6 16 44 V-1 v9 100 120|120 3 3#0-1 4A 50 11.0|121 9 2y N+2 &A 170 12.0
19 2 5#S-1 +Q -50 140 6 15 24 N-1  ¢A -50 140|120 3 2y N+1 &A 140 14.0
15 14 34 V= v3 -140 16.0( 7 17 1¢ O+1 #Q -90 16.0( 7 17 4v S-1 &2 -100 16.0
10 12 4¢ V+1 vQ -150 18.0|121 9 34 N-2 ©vA -100 18.0|14 13 4v S-2 #4 -200 18.0
17 - 16 - 16 -
19 Syd OV 20 Vast Alla 21 Nord NS
Par Kontr Ut Res ing Par Kontr Ut Res ing Par Kontr Ut Res
5 11 4v O-1 #A 100 30| 7 16 2NV -2 v9 200 00| 8 17 3NV -4 *4 200 0.0
9 20 4v O-1 ¢2 100 30 5 11 24 S+1 ¢J 140 20| 6 13 24 S+1 &8 140 2.0
17 2 3vO0-1 #A 100 30| 6 14 24 S= +3 110 40(12 11 3v V-2 ¢ A 100 5.0
22 10 24 V-1 ¢+ 4 100 30|17 2 24 V-1 &2 100 70|22 5 2vV-2 ¢ A 100 5.0
19 3 24 V= &7 -110 80(21 4 3a4V-1 48 100 70|18 3 3#0-1 &A 50 8.0
8 18 2v O+1 #A -140 11.0( 8 18 INV= 48 -90 100 2 16 24O = LY -90 13.0
13 12 2v O+1 #A -140 11.0( 9 20 2NO+1 46 -150 13.0( 7 15 24O = 4 A -90 13.0
6 14 2NO+1 #A -150 150|119 3 INO+2 4Q -150 13.0( 9 19 24 0= a5 -90 13.0
7 16 INO+2 &A -150 150(13 12 INV+3 T -180 16.0(10 21 24 O= &K -90 13.0
21 4 3NV= &7 -600 18.0(22 10 INO+4 5 -210 18.0(20 4 340= 4 A -110 18.0
- 15 74| - 15 74| - 14 9.8
22 Ost OV 23 Syd Alla 24 Vast Ingen
Par Kontr Ut Res ing Par Kontr Ut Res Par Kontr Ut Res ing
7 15 6NV -2 49 200 180 0.0| 8 16 4y V-2 vQ 200 10| 2 15 464 N+2 ¢J 480 . 3.0
2 16 BNO+1 +¢5 -630 140 40| 9 18 3vO-2 46 200 10| 9 18 54 N+1 v3 480 . 3.0
8 17 B3NO+1 +4 630 140 4011 22 4v0-1 T 100 50|11 22 44 N+2 v3 480 . 3.0
10 21 3NO+1 +¢6 630 140 4.0(21 5 2v0-1 T 100 50121 5 44 N+2 ¢J 480 50 3.0
6 13 3NO+2 44 -660 8.0 10.0| 7 14 Pass 8.0| 3 17 44 N+1 +3 450 6.0 12.0
9 19 3NO+2 #4 -660 8.0 100( 3 17 3#N-1 vA -100 10.0| 6 12 44 N+1 ¢J 450 6.0 12.0
18 3 5NV= ¢7 -660 8.0 100| 2 15 2vO= &T -110 150( 7 14 44 N+1 ¢ 450 6.0 12.0
20 4 4vy O+2 +38 -680 40 140| 6 12 2v 0= *9 -110 150 8 16 44 N+1 3 450 6.0 12.0
22 5 3NO+3 #4 -690 20 16.0|10 20 2v O= &T -110 150|119 4 44 N+1 ¢J 450 6.0 12.0
12 11 6v O= v7 -1430 0.0 180(19 4 2v 0= 29 -110 15010 20 34 N+3 3 230 0.0 18.0
- 14 98|13 - 13 - 8.5
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